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1. Introduction
This is the summary of the following email discussion:
· [AT116-e][706][V2X/SL] Candidate resource selection (including related HARQ RTT issues) (Huawei)


Scope: Discuss candidate resource selection aspects (including related HARQ RTT issues) covering the proposals in P9-P11/R2-2111204, P3/R2-2110225, P1-P5 and P9/R2-2110155, P2/R2-2110119, P4-P9/R2-2110062, P2-P4/R2-2109937, P1-P6/R2-2109936, P12-P15 and P17-P18/R2-2109907, P1-P3/R2-2109724. 


Intended outcome: Discussion summary in R2-2111423 



   Deadline: 11/8, 17:00 UTC
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2. Discussion

2.1. On TX UE selecting resources

#115e agreements:

14:
For unicast, the TX UE selects the resources for the initial transmission associated with any active time (e.g. on duration timer or inactivity timer, or retransmission timer) at the RX UE. How to handle cases when a transmission may cause these timers to be running at the RX UE is FFS. FFS on groupcast. FFS on whether any spec impact.

16:
For broadcast, the TX UE can select the resources for the initial transmission associated with any active time supported by broadcast (i.e. on duration timer) at the RX UE.

	Tdoc
	Related Proposals

	R2-2111204
	Proposal 10a: The initial transmission resource can only be selected in active time of the RX UE determined at current time.

	R2-2110155
	Proposal 3. RAN2 agrees that MAC selects the resources considering the current and future active time. When MAC selects N resources in total for a MAC PDU, at least X resources shall be selected in the current active time while remaining N-X resources can be selected in the current and future active time. How to determine X is FFS.

	R2-2109936


	Proposal 2: 
When determining the current active time to provide to PHY layer, active time associated with a selected resource in which transmission has not yet occurred is not included.

Proposal 5: 
For one-shot unicast/groupcast transmissions, the TX UE selects a resource from the set of resources in the RX UE’s current active time, for the initial transmission and zero or more retransmissions.  FFS on the number of retransmissions.

Proposal 6: 
For one-shot broadcast transmissions, the TX UE selects resources for the initial transmission and all retransmissions from the RX UE’s current active time.


From the above proposals, it is generally agreed that MAC can also select the resources based on the consideration of the current and future active time. It is common to consider selecting the initial transmission resource in the RX UE’s current active time. It could be understood for resource selection for multi-shot transmissions case, the initial transmission is the initial transmission of the first TB of the multi-shot transmission. R2-2109936 P2 further considers active time associated with a selected resource in which transmission has not yet occurred is not included in current active time. 

Accordingly, the following Q1 is on general principle and other questions are on specific behaviour: 

Q1: Would your company agree that, when MAC selects N resources in total for a MAC PDU, at least X (X≤N) resources shall be selected in the current active time, FFS how to determine X for each cast type?

	Company
	Agree/Disagree
	Further comments

	OPPO
	Agree but up to UE implementation
	Obviously X has to be >0 to fit into DRX active time of Rx-UE, but we see this Q1 may end up with left issues on

· Value of X

· Whether X is per-cast-type defined or not

· How to decide the active-time since DRX active time is per-destination and per-cast types

· After decision on the active-time before resource selection, whether it can perfectly match to the destination selection in LCP procedure afterwards

So our preference is leave all these to UE implementation.

	Ericsson
	disagree
	we don’t think the MAC layer shall distinguish resources between current active time and future active time. 

The MAC layer first indicates time information to the PHY layer. the PHY layer provides a set of resources to the MAC layer. The MAC layer further selects resources among the resources received from the PHY layer. during this procedure, the part which may affect RAN2 is that 

How the MAC layer determines the active time information.

RAN2 discussion shall focus on this part and avoid to over-specify the procedure.

	Fujitsu
	Agree
	If no resource is located within SL DRX current active time, packet loss will happen, which may degrade the system performance. In our view, X at least can be 1, to guarantee initial transmission within SL DRX current active time. Then the following retransmissions can be received in current or future active time (triggered by e.g., inactivity timer, retransmission timer).

	ZTE
	Partial agree
	We think only the very first resource should be selected in current active time. For the other multiple-shot transmission except initial transmission, we think the discussion can be avoided if we support active time of RX UE shall include the period resource indicated by the SCI.

	InterDigital
	Agree
	We agree with the statement and think that as a minimum the initial transmission should be included in the current active time of the RX UE.  In addition, to avoid packet loss due to (for example) half duplex at the RX UE, it may be beneficial to include one or more retransmissions in the current active time, and the remaining retransmissions in the future active time.  This may, for example, be necessary for transmissions with stringent QoS requirements.

	Intel
	Agree but see comments
	As we discuss in our contribution, even if MAC layer is responsible for selecting resources within the RX UE’s active time, it is possible that it may not have an opportunity to select the resources within the remaining active time duration/cycle of the RX UE. 

In any case, if we go with the discussion model in RAN1, i.e. PHY layer is informed of the active time of the RX UE when it performs the candidate resource selection, we still need to specify UE behavior in case MAC layer is not able to select resources out of the indicated set within the remaining active time.

	Qualcomm
	Agree

UE implementation
	It’s possible that reservations for future retransmissions are out of the current active time so that HARQ retransmission timer is used for extending the active time accordingly. However, it depends on the resource candidates in current active time and out of the current active time (if RAN1 agrees so), the priority of the LCH, the remaining PDB for a TB, etc. So, this should be up to UE’s implementation.

	Samsung
	Disagree
	We’re not sure what X out of N really means and before we discuss such details, we should decide the principles first. We think for initial transmissions, it should be selected always within DRX active time (regardless of present and future DRX active time) according to DRX configuration. Note future resources with resource reservation period will be still selected within DRX active time according to DRX configuration (but future DRX active time). For retransmissions, since we agreed HARQ retransmission resource in SCI is used to derive HARQ RTT, we don’t need such a restriction.  

	Spreadtrum
	Agree
	At least the initial transmission should be in the current active time of the Rx UE. For the retransmission resources, we think it can be up to UE implementation.

	LG
	Agree
	

	Xiaomi
	Disagree
	We understand RAN1 is working on this issue. MAC doesn’t need to differentiate current or future active time and just select any candidate resource provided by physical layer, if active time has been considered by physical layer.

	Vivo
	Disagree
	We don’t think there is a need to discuss how to determine X. While MAC layer is aware of the active time for different RX UEs and the resource is selected by MAC layer, it is simple that we just leave it to UE implementation.

We also agree with Ericsson that the key point here is to ensure the candidate resources provided by PHY layer can be made good use of by MAC layer.  

	CATT 
	Agree
	

	Philips
	Agree
	At least X resources should be selected within the active time of the RX UE

	Huawei, HiSilicon
	Disagree with comments
	For unicast and groupcast, the initial transmission should be in current active time, otherwise, Rx UE cannot receive the initial transmission and retransmissions. While the retransmissions can be either in current active time or future active time extended by a prior selected resource. How to choose could be up to UE implementation. Therefore, no need to discuss the number of resources selected in active time.

For broadcast, both initial transmission and retransmissions should be in current active time, since both inactivity timer and retransmission timer are not supported, all the transmissions should be in current active time. Therefore, for broadcast, X equals to N.

	Apple
	Agree with comment
	We agree that current active period is more important than the future active time in regards of initial reservation. However, the problem still needs to be solved for multi-slot reservation .

	MediaTek
	Agree
	

	Lenovo
	Agree
	Assuming X is very close to N (i.e., MAC has sufficient resources to choose from in the current Active time)


 [Summary] Agree: 10/17. Agree but up to UE implementation: 2. Disagree: 5/17.  It can be observed that more than half of the companies think this is understandable as one general principle however the main discussion between different views are on spec impacts and on how to understand this principle for detailed scenarios, e.g. for initial transmission or retransmission, or for different cast types. RAN2 may discussion the below proposal: 
[10/17 Proposal 1] RAN2 assumes, when MAC selects N resources in total for a MAC PDU, at least X (X≤N) resources shall be selected in the current active time. FFS on spec impact. FFS how to determine X for each cast type. FFS for retransmission case. 
Q2: Would your company agree that TX UE shall selects initial transmission resource only in the RX UE’s current active time? 

	Company
	Agree/Disagree
	Further comments

	OPPO
	Agree but up to UE implementation
	See reply to Q1, we see this Q2may end up with left issues on

· How to decide the active-time since DRX active time is per-destination and per-cast types

· After decision on the active-time before resource selection, whether it can perfectly match to the destination selection in LCP procedure afterwards

So our preference is leave all these to UE implementation.

	Ericsson
	disagree
	Same comments as Q1.

	Fujitsu
	Agree
	As our comments in Q1, TX UE shall select initial transmission resource only in the RX UE’s current active time to avoid packet loss issue.

	ZTE
	Agree but left to UE implementation.
	

	InterDigital
	Agree
	We do not think this should be left to UE implementation, as a specified behavior should be used to avoid packet loss and unnecessary congestions caused by SL transmissions occurring outside the active time.  

	Qualcomm
	Agree
	To avoid asynchronization between Tx and Rx UE, the initial transmission resource should be in the Rx UE’s current active time.

	Samsung
	Partially agree (see comments)
	Yes, assuming no multiple resources with resource reservation period. If multiple resources with the resource reservation period, future resources need to be reserved in future DRX active time according to DRX configuration. 

	Spreadtrum
	Agree
	

	LG
	See comment
	RAN2 needs more time to check whether the Tx UE can select initial transmission resource in the future active time.

	Xiaomi
	Disagree
	We understand RAN1 is working on this issue. MAC doesn’t need to differentiate current or future active time and just select any candidate resource provided by physical layer, if active time has been considered by physical layer.

	vivo
	See comments
	This need to be further clarified/discussed, e.g. whether the TX UE may accurately predict the RX UE’s future active time or not? Or, whether the TX UE may provide active time in real time thus making all active time can be regarded as current active time? 

	CATT
	Agree
	

	Philips
	Agree
	Agree with Fujitsu

	Huawei, HiSilicon
	Agree
	The initial transmission should be in current active time, and it should be specified rather than to be up to UE implementation. Otherwise, Rx UE cannot receive the initial transmission and the subsequent retransmissions. 

In our understanding, current active time is the deterministic active time that is determined according to the DRX configuration and performed transmissions before initial transmission resource selection. It includes the time associated with current running timers, retransmission timer which is certain to be started and future onduation timer. 

Future active time is the time extended by prior selected resources for the same sidelink process before a retransmission resource selection.

	Apple
	Agree
	

	MediaTek
	Agree
	

	Lenovo
	Agree
	


 [Summary] Agree: 10/16. Agree but up to UE implementation: 2. Disagree: 2/16. Need more time/discussion: 2/16. 
[10/16 Proposal 2] TX UE shall selects initial transmission resource only in the RX UE’s current active time. FFS on spec impact. 
Q3: If that TX UE shall selects initial transmission resource only in the RX UE’s current active time is agreed, would your company agree this behavior is applied for all cast types?

	Company
	Agree/Disagree
	Further comments

	OPPO
	Agree
	

	Fujitsu
	Agree
	

	ZTE
	Agree
	

	InterDigital
	Agree
	

	Intel
	Agree with comment
	Same comment as in Q1

	Qualcomm
	Agree
	

	Samsung
	Partially agree
	Yes, assuming no multiple resources with reservation period. See the comment in Q2. 

	Spreadtrum
	Agree
	

	CATT
	Agree
	

	Philips
	Agree
	

	Huawei, HiSilicon
	Agree
	

	Apple
	Agree
	

	MediaTek
	Agree
	

	Lenovo
	Agree
	


[Summary]There is clear majority (13/13) agree. 
[13/13 Proposal 3] If RAN 2 agrees that TX UE shall selects initial transmission resource only in the RX UE’s current active time, it is applied for all cast types. 
Q4: Would your company agree that, when determining the current active time to provide to PHY layer, active time associated with a selected resource in which transmission has not yet occurred is not included? 

	Company
	Agree/Disagree on the constrain
	Further comments

	OPPO
	Agree but up to UE implementation
	We do not see benefit from specify the “active-time” decision in details, considering the left issues

· How to decide the active-time since DRX active time is per-destination / per-cast-type

· After decision on the active-time before resource selection, whether it can perfectly match to the destination selection in LCP procedure afterwards

So it would be preferred to avoid such details but leave it to UE implementation.

	Ericsson
	disagree
	Same comments as Q1.

	Fujitsu
	Agree
	We assume this is actually how to define the “current” active time, then we think “active time associated with a selected resource in which transmission has not yet occurred” should be defined as “future” active time then should not be included. 

	ZTE
	Left to UE implementation
	If the active time only covers the current active time, then the inactivity timer and retransmission timer is useless since all resources are in active time of RX UE and we do not need to extend the active time.

	InterDigital
	Agree
	We cannot provide PHY layer with future active time because MAC layer has not yet selected the resources and the future active time will depend on the timing of the selected resources.  So PHY layer can be provided only the current active time.

RAN1 has already assumed this in the working assumption, and so it cannot be left to UE implementation.

	Intel
	See comment
	We are not fully clear on what “active time associated with a selected resource in which transmission has not yet occurred” means. In general, the indication of active time of the RX UE from MAC to PHY layer may not be easy to specify considering different corner cases, so we  tend to share OPPO’s view that it may be left to implementation on how active time is determined.

	Qualcomm
	Agree
	Rx UE may not be in active state for future retransmissions, e.g., after sending an ACK. 

	Samsung
	See comment
	First we would like to understand what “active time associated with a selected resource in which transmission has not yet occurred” means. Is it future resources when multiple resources with resource reservation period? Or something else? 

	Spreadtrum
	Agree
	If “active time associated with a selected resource in which transmission has not yet occurred” means the future active time, it should not be included in the active time indicated to PHY.

	LG
	Agree
	The intention of the proposal is that MAC layer provides only current active time to PHY layer.

	Xiaomi
	Disagree
	We understand it’s UE’s internal implementation how to indicate the active time to physical layer, since the active time may change dynamically due to sidelink transmission. We don’t see the need to specify every corner case.

	vivo
	Disagree
	It seems pre-mature to exclude the further active time as the case may differ in periodic service and non-periodic service.

We can further discuss on this.

	CATT
	Agree
	It’s impossible to exactly know the situation in future, hence we agree the current proposal.

	Philips
	Left to UE implementation
	Agree with ZTE

	Huawei, HiSilicon
	Agree
	In our understanding, “a selected resource in which transmission has not yet occurred” is a selected resource in another resource selection procedure before the resource selection procedure of “determining the current active time to provide to PHY layer”. 

Based on this understanding, as our comments in Q2, current active time is the deterministic active time that is determined according to the DRX configuration and performed transmissions before initial transmission resource selection. Since the selected resource has not yet occurred, the associated active time is not included in current active time.

If the current active time includes the uncertain active time, UE may select an initial transmission resource in the uncertain active time, then the initial transmission and subsequent retransmissions cannot be performed if the uncertain active time is not started.

	Apple
	Agree
	

	MediaTek
	Agree
	We prefer to keep it simple so that MAC needs not predict future active time for a selected but not yet transmitted resource.

	Lenovo
	Agree
	We understand the question as asking if MAC should trigger resource selection only for the active time visible currently in the MAC layer – and the answer is “yes”. MAC can’t assume there will be Inactivity timer starting at a later point and therefore can’t provide any time period outside of the current active time to Phy.


[Summary] Agree 9/17.  Disagree: 3/17. Up to UE implementation: 3/17. Need more discussion: 2/17. 
[9/17 Proposal 4] RAN2 further discuss, when determining the current active time to provide to PHY layer, active time associated with a selected resource in which transmission has not yet occurred is not included. 
2.2. On whether reply LS to RAN1(based on the covered proposals)

#115e agreements:

15:
For unicast, the TX UE can select the resources for the retransmission associated with any active time (e.g. on duration timer or inactivity timer, or retransmission timer) at the RX UE.  How to handle cases when a transmission may cause these timers to be running at the RX UE is FFS. FFS on groupcast. FFS on whether any spec impact.

17:
For broadcast, the TX UE can select the resources for the retransmission associated with any active time supported by broadcast (i.e. on duration timer) at the RX UE.

	Tdoc
	Related Proposals

	R2-2111204
	Proposal 10b: The retransmission resource can be selected in active time of the RX UE updated according to its prior transmission.

	R2-2110155
	Proposal 4. RAN2 agrees that future active time is updated in selection of each resource as follows: 

-  If a resource in slot n is in current or future active time and selected by MAC, each of slots n+1, n+2, …, n+k is considered being in future active time if it is not in the current active time where k is Timers to be running once RX UE receives SCI in slot n.

Proposal 5: RAN2 replies to RAN1 that Option 1 is not aligned with the operation RAN2 intends to support. The reply also includes that RAN2 prefers Option 2 as MAC can keep the current framework of using a single set of candidate resources.

	R2-2109936
	Proposal 4: 
Send LS to RAN1 indicating that option 1 is feasible only for broadcast, while option 2 or option 3 is needed for unicast/groupcast.


The common thoughts of above proposals are on sending LS to RAN1 regarding the resource selection options, and also on the future active time is updated by selection of resource, however the method on how to update future active time may be left to further discussion.  Also, whether to send reply LS to RAN1 is subject to other email/online discussions as well.

Q5: Based on the covered proposal, would your company agree to send reply LS for R2-2111220 to RAN1 and which point(s) your company wants to make if RAN2 agree to send reply LS?

Point 1: Option 1 is not aligned with the operation considered in RAN2. 

Point 2: Option 2 is preferred from RAN2 perspective, as MAC can keep the current framework of using a single set of candidate resources. 

Point 3: RAN2 consider that Option 1 is feasible only for broadcast, while Option 2 or Option 3 is needed for unicast/groupcast.

Point 4: Provide the pros and cons of each options from RAN2’s perspective.
Point 5: Other, please elaborate.

	Company
	Agree/Disagree to send reply LS to RAN1
	Point(s) to be included if RAN2 agree to send reply LS
	Further comments

	OPPO
	No
	
	We do not see RAN2 has to interfere RAN1 decision since this LS does not require RAN2 action on feedback (!)

	Ericsson 
	disagree
	
	Agree with OPPO

	Fujitsu
	Yes
	Point 3
	First of all, RAN1 is not very clear whether the active time notified by the MAC is “current” or “current and future” active time until now. This may exactly have impacts on them to make further down-selection among the three options. After RAN2 has confirmed that the notified active time is only “current”, Option 1 is naturally not best for unicast/ groupcast since it will make the timer based active extension mechanism design by RAN2 meaningless.

For option 2 and option 3, it is up to RAN1 to make decision b/w them after further discussion.

	ZTE
	Agree
	Point4
	We think it’s better to provide RAN2’s concern about each options without down-select one option .

	InterDigital
	Agree
	Point1 or Point3
	We see a clear problem with option 1 from RAN2 perspective, because it makes the inactivity timer and retransmission timers defined by RAN2 obsolete from TX UE perspective.  If all retransmissions are performed in the current active time (i.e. on duration), then these timers are not used.

RAN1 can then decide between options 2 and 3.  

	Intel
	No
	
	While we can discuss the MAC layer behavior on how to indicate active time and how to select resources from the indicated set, the discussion on different Options seems in RAN1 scope, so no need to respond on that aspect

	Qualcomm
	Agree
	Active time, maybe Point 4
	RAN2 needs to clarify the active time indication to PHY, then it’s RAN1’s decision on the options. RAN2 may comment on pros and cons if needed.

	Samsung
	Disagree now (see comment)
	
	Before we send any LS, we need to have clear RAN2 decision/preference. At this phase, we are not sure if we all have same understanding for each option in the LS and how it works. 

	Spreadtrum
	Agree
	Point 4
	

	LG
	Yes
	
	It is good to deliver RAN2 preference for the progress of RAN1's further work.
For example, at least RAN1's ​​assumption should (i.e., MAC layer provides active time of Rx UE to PHY layer.) be confirmed. In addition, RAN2 should determine what active time the MAC layer gives to the PHY layer and inform RAN1. Finally, it can inform the preference of RAN2 for the options discussed in RAN1, and even if there is no preference of RAN2, the reply LS should be transmitted so that RAN1 can decide.

	Xiaomi
	Disagree
	
	We understand it’s UE’s internal implementation how to indicate the active time to physical layer. MAC just select any candidate resource provided by physical layer, if active time has been considered by physical layer. We don’t see the need to send reply LS.

	vivo
	Disagree
	
	Which option to select is more RAN1 issue as it mostly impacts the candidate resource selection in PHY layer.

We don’t need to send them LS now.

	CATT
	Disagree
	
	No matter which option is adopted by RAN1, we have already know that the TX UE should select a resource within the active time of an RX UE and both phy and mac can implement this restriction. Before we have a whole picture for the above restriction. There is no need to reply LS to RAN1.

	Huawei, HiSilicon
	Agree
	Point 1 or Point 4
	In option 1, the reported resources set are all in active time. If MAC provides only current active time to PHY layer, the reported resources will be all in current time. Thus option 1 restricts retransmission resource can only be selected in current active time. However, retransmission can be selected in the future active time extended by retransmission timer.

	Apple
	No
	
	We would rather let RAN1 to finish its discussion first. There is no urgency for RAN2 to send a reply LS.

	MediaTek
	No
	
	It’s up to RAN1 to make their own decision. RAN2 comments on the pros and cons seem not necessary.

	Lenovo
	Disagree
	None
	Option 1 is the most correct as this is current MAC visibility of active time. Since there’s no guarantee that there will be an Inactivity timer (or Retransmission-timer) starting, the MAC can only trigger resource selection according to Option 1.

Option 2 can produce were “thin/ in-sufficient” resources that ACTUALLY fall in the Rx UE’s active time.

Option 3 is acceptable but by and large un-necessary as the resources outside of the “additional set” will need to be updated when the time comes.


[Summary]Agree: 7/16. Disagree: 9/16. On the point to be included if LS is agreed, Option 4 has the highest votes. Majority supports not to send LS. 
2.3. On providing information to PHY for resource selection

	Tdoc
	Related Proposals

	R2-2110155
	Proposal 1. RAN2 agrees that MAC provides PHY with information for the restriction when resource (re-)selection is triggered and conducts resource (re-)selection based on the candidate resource set(s) PHY reported.

Proposal 2. RAN2 agrees that information provided to PHY for the restriction includes the current active time of the RX UE and the minimum number of current active time slots in the reported candidate resource set.

	R2-2109936
	Proposal 1: 
MAC Layer provides only the current active time (on-duration timer, inactivity timer, or retransmission timer for unicast/groupcast; on-duration timer for broadcast) to the physical layer during resource selection.  Future active time is not provided.

Proposal 3: 
MAC Layer provides the current active time associated with the highest priority L2 destination ID configured with DRX and having data available for transmission.  

	R2-2109907


	Proposal 12
The active time provided by the MAC layer to the physical layer shall contain current active time and future active time estimated by the MAC layer.

Proposal 14
When providing active time to the Physical layer, the MAC layer prefilters destinations. FFS on the selection conditions.

	R2-2109724
	Proposal 1: Latest DRX configuration is sent to PHY for resource selection triggers for a certain destination.


Based on the above proposals, it is commonly assumed that MAC provides PHY with information for the restriction when resource (re-)selection is triggered and conducts resource (re-)selection based on the candidate resource set(s) PHY reported, however companies have different opinions on what to report. It is to be discussed whether that the information other than the current active time and/or future active time shall be reported. 

Q6: Would your company agree that MAC provides PHY with information for the restriction when resource (re-)selection is triggered and conducts resource (re-)selection based on the candidate resource set(s) PHY reported?

	Company
	Agree/Disagree
	Further comments

	OPPO
	Disagree (this Q is confusing)
	This Q is quite confusing – we understand 

· Before PHY report the resource set, MAC can provide the info on “active time” (for which our preference is up to UE implementation to decide on it based on the reply above)

· After PHY report the resource set, MAC select the resources from the reported set directly, no need for further “restriction information”

	Ericsson
	comments
	Have the same view as OPPO. this question is quite confusing. 

From my reading, in the corresponding proposal in R2-2110155, the proposal was actually meaning that the MAC layer needs to notifying the current active time of the Rx UE to the PHY layer.

Therefore, this question can be removed, since it is already clear that the MAC layer needs to provide time information to the PHY layer. The remaining issue for the RAN2 is to determine the information content.

	Fujitsu 
	Comments
	We also think this question is confusing, active time itself is a restriction which has been already notified to PHY.

	ZTE
	Comments
	Share the same view with OPPO and Ericsson, what we can do with this proposal? 

	InterDigital 
	Agree
	This is in fact legacy behavior with the new consideration that resource selection should take into account the active time of the RX UE (which is what RAN2 agreed).

	Intel
	See comment
	In general, we share the view from OPPO. From the discussion in RAN1, it seems clear that MAC is responsible for indicating the active time information to PHY and then subsequently, select the resources from the indicated set(s) (if it is able to meet the PDB requirement within the remaining active time) or trigger reselection.

	Qualcomm
	Comment
	Not clear.

	Samsung
	Agree
	

	Spreadtrum
	Comments
	Information on current active time is sufficient when the resource reselection is triggered. Not sure if there is any further information should be provided to PHY when the MAC conducts resource (re-)selection based on the candidate resource set(s) PHY reported

	LG
	Agree with comment
	The intention of the proposal is to allow the physical layer to determine the set of candidate resources by limiting the information (e.g., current active time) received from the MAC layer. Therefore, we agree to the proposal.

	Xiaomi
	Agree
	MAC should provide active time to physical layer to assist resource selection. But the internal inter-layer information is up to UE’s implementation.

	vivo
	Disagree with comments
	We should first discuss the information content, i.e. what to provide to PHY layer to help them with candidate resource. 

Different information content may lead to different timing to provide that information, i.e. not necessarily be when resource (re-)selection is triggered

	CATT
	Disagree
	Only current active time should be provided to the PHY layer.

	Philips
	Comments
	We find the question confusing

	Huawei, HiSilicon
	Comments
	We think that “MAC provides PHY with information for the restriction when resource (re-)selection is triggered” means additional information beside current information that is provided to PHY to implement the restriction of resource selection agreed by RAN2

	Apple
	Comment
	Not sure we understand the question.

	MediaTek
	Disagree
	We don’t see additional information needed. Indicating current active time is already sufficient.

	Lenovo
	Question is not clear
	We think the Phy needs to know (and even in current specification it already knows) the PDB corresponding to the resources it need to select. In addition, the MAC should let Phy know of the DRX cycle configuration so that Phy looks for resources not only in the current on-duration timer but also in the future on-duration timers up to PDB. 


[Summary] It is understood this question is about “allow the physical layer to determine the set of candidate resources by limiting the information (e.g., current active time) received from the MAC layer”. This is the intended behavior according to existing RAN2 agreements. No proposal is given. 
Q7: Which option would your company support regarding MAC provides current and/or future active time to PHY?

Option 1: Current active time only.

Option 2: Current active time and future active time estimated by the MAC layer.
	Company
	Option
	Further comments

	OPPO
	Up to UE implementation
	We understand current active time is the active time can be determined before the resource selection based on the set reported by the PHY.

So in favor of 1 than 2

But considering the left issues listed above

· How to decide the active-time since DRX active time is per-destination / per-cast-type

· After decision on the active-time before resource selection, whether it can perfectly match to the destination selection in LCP procedure afterwards

So it would be preferred to avoid such details but leave it to UE implementation.

	Ericsson
	Option 2
	it is beneficial for the MAC layer to provide the information including both the current active time and the future active time to the PHY layer, which can assist the PHY layer to select more suitable resources in future.

	Fujitsu
	Option 1
	Totally, there are three steps in the whole procedure, 

Step 1) MAC layer indicates active time information to the PHY layer. 

Step 2) PHY layer generates and provides one or more set of resources to MAC layer. 

Step 3) MAC layer selects the transmitted resources among the resource set.

So, during step 1), MAC layer cannot predict which resource(s) will be selected in step 3), then it cannot precisely predict estimate future active time, if incorrect active time is notified to PHY layer, packet loss cannot be fully avoided. So, we prefer to notify PHY the current active time only.

	ZTE
	Left to UE implementation
	Share the view with OPPO

	InterDigital
	Option 1
	MAC layer can only provide the current active time to the PHY layer, because the future active time is not known yet (depends on the resources selected after PHY layer provides availability information)

PHY layer should use either option 2 or option 3 from RAN1.  

MAC layer can then select one or more resources in the current active time, and one or more resources in the future active time, so that the TX UE can make use of the extension of the active time (by the DRX inactivity and retransmission timers).

Leaving this behavior to UE implementation may have adverse effects to the system.

	Intel
	Maybe option 2
	Based on our earlier comments, in order to ensure that at least some the indicated resources fall within the active time, option 2 may be preferrable. However, we agree that it may not be a straightforward task to do, so we can accept leaving it to UE implementation if majority prefers.

	Qualcomm
	Option 1
	Option 1 is simpler

	Samsung
	Both option1 and option2
	Option1 for one shot transmission and option2 is for multi transmissions with the resource reservation period. 

	Spreadtrum
	Option 1
	

	LG
	Option 1
	Similar view with InterDigital. Also, in terms of not increasing the complexity of UE behavior, it is good to consider only the active time determined before resource selection.

	Xiaomi
	Up to UE impelementation
	It’s not clear what does current active time and future active time mean, here. In general, We understand it’s UE’s internal implementation how to indicate the active time to physical layer.

	vivo
	Option 2
	At least we wonder for the periodic service the future active time is anyway needed right? It may need more clarification here.

Also, it is related to how we define current/further active time, please refer to our comments in Q2. 

	CATT
	Option 1
	Only current active time can be determined before resource selection and reported to the PHY layer for candidate resource selection.

	Philips
	Option 2
	Agree with Ericsson

	Huawei, HiSilicon
	Option 1
	We think current active time is enough for PHY layer to report set of resources including resources in current active time.

	Apple
	Option 1
	MAC layer can only provide the current active time to the PHY layer, because the future active time is not known at this time.

	MediaTek
	Option 1
	Option 1 is simpler.

	Lenovo
	Option 1
	


[Summary] Option 1: 10/17. Option 2: 5/17. Up to UE implementation: 3/17. It is understood that Option 1 and Option 2 are mutually exclusive.
[Proposal 6] Regarding that MAC provides current and/or future active time to PHY, RAN 2 to choose between Option 1 “Current active time only” (10/17) and Option 2 “Current active time and future active time estimated by the MAC layer” (5/17). 
Q8: Would your company agree that information provided to PHY for the restriction includes the minimum number of current active time slots in the reported candidate resource set?

	Company
	Agree/Disagree
	Further comments

	OPPO
	Disagree (this Q is confusing)
	This Q is confusing, our understanding on the procedure is described in reply to Q6

As replied above, we do not see the need for further specifying details for the active time.

	Ericsson
	Disagree
	This seems too restrictive for UE to determine the active time.

	Fujitsu
	Disagree
	We also think this question is too restrictive.

	ZTE
	Disagree
	We do not see the necessary to do this.

	InterDigital
	Disagree
	This does not seem to be needed.

	Intel
	Disagree
	Same comment as above that indication of active time should occur before the PHY layer reports the candidate resource set.

	Qualcomm
	Disagree
	Up to UE implementation

	Samsung
	See comment
	We don’t understand why just informing current (and possibly future DRX active time) should not be enough. Why any additional information (e.g. minimum number of current active time, etc.) is required on top of DRX active time?  

	Spreadtrum
	Disagree
	

	LG
	Agree with comment
	RAN2 needs to further discuss how to report the current active time (e.g., the minimum number of current active time slots or total number of current active time slots or UE implementation). 

	Xiaomi
	Disagree
	

	vivo
	See comments
	This question relys on RAN1’s decision of the three options. E.g. if option-2 is adopted, then this information may be needed. 

	CATT
	See comments
	We are open to this issue.

	Philips
	Disagree
	Too restrictive

	Huawei, HiSilicon
	Disagree
	No information of number of slots provided to PHY layer in legacy procedure. We do not see the motivation to provide number of current active time slots for SL DRX case.

	Apple
	Disagree
	

	MediaTek
	Disagree
	

	Lenovo
	Not understood
	Why we talk about such new concept?


[Summary]There is no sufficient support for this proposal.
Q9: Would your company agree that “Latest DRX configuration is sent to PHY for resource selection triggers for a certain destination”?

	Company
	Agree/Disagree
	Further comments

	OPPo
	Disagree
	Only “active time” is needed, instead of “DRX configuration”

We do not think the “for a certain destination” is reasonable since the destination selection in done at LCP which is after resource selection but not now (before resource selection).

	Ericsson
	Disagree.
	DRX configuration is maintained at the MAC layer, we shall not give such information to the PHY layer since the PHY layer doesn’t understand the DRX configuration. It is sufficient for the MAC layer to only provide time information.

	Fujitsu
	Agree with comments
	Instead of DRX configuration, we agree the DRX active time should be provided to PHY for a certain destination. 

	ZTE
	Disagree
	It is not clearer what is latest DRX configuration. And actually we think PHY layer only needs to know the active time of RX UE to perform sensing, not the DRX configuration.

	InterDigital
	Comments
	We see this more as the active time and not the DRX configuration.  DRX configuration is maintained by the MAC.  The PHY only needs to know the restriction of the resources from which resource selection should be performed.

	Intel
	Disagree
	Agree with OPPO and Ericsson

	Qualcomm
	Disagree
	SL DRX configuration doesn’t reflect the active time extended by timers. Also, it’s not necessary per destination. 

	Samsung
	Partially agree
	Agree with latest DRX configuration, but not sure whether destination information is required (unless it is already supported in Rel-16)

	Spreadtrum
	Disagree
	

	LG
	Disagree
	Only active time needs to be provided to the physical layer to determine a set of candidate resources.

	Xiaomi
	Disagree
	We understand it’s up to UE’s implementation whether to provide DRX configuration or active time.

	vivo
	Disagree with comments
	Agree with OPPO that it may not be the DRX configuration, but be the active time. Even we are forwarding the DRX configuration to PHY it may be just part of it. 

	CATT
	Disagree
	The definition of “current active time” needs to be clarified first. Does it only include the active time that should be considered for current TB, or does it also include the active time that can be considered for the next couple of TBs (e.g. the semi-static drx on-duration).

	Philips
	Disagree
	Agree with Ericsson and ZTE

	Huawei, HiSilicon
	Disagree
	We understand the latest DRX configuration is maintained at MAC and does not need to be seen by PHY layer.  Active time information for PHY layer is enough.

	Apple
	Disagree
	

	MediaTek
	Disagree
	Agree with Ericsson

	Lenovo 
	Agree
	Without this the Phy would not know if there are future on-durations that are occurring before the PDB expiry


[Summary]There is no sufficient support for this proposal.
Q10: Would your company agree that, when providing active time to the Physical layer, the MAC layer selects which destination is associated with the active time provided to PHY, FFS on the selection conditions?

	Company
	Agree/Disagree
	Further comments

	OPPO
	Disagree
	Active time provisioning happens before resource selection, while LCP which includes destination selection happens after resource selection. So we do not see it can perfectly match with each other.

So it would be preferred to avoid such details but leave it to UE implementation.

	Ericsson
	agree
	to facilitate resource selection in the PHY layer, we believe that MAC layer should select the Active Time of limited number of destinations among the destinations which have data in the LCHs is selected. For example, the destination that has active time overlapping with the active time of the largest number of other destinations which also have data in the LCHs is selected. Doing so helps maximize the possibility that a SL grant using these resources will be utilized because there are highest number of destinations sharing the selected active time. In addition, upon reception of a SL grant, the MAC layer performs the procedure in the LCP to select a suitable destination based on whether active time of each destination maps to the SL grant. For example, the destination whose active time contains all SL grant resources or contains the largest number of the SL grant resources is selected. Note that, this is related to an agreement made in RAN2#113bis, cite below.

RAN2 assumes LCP enhancements for ensuring a TX UE transmits data in the active time of an RX UE are needed. FFS on the resource (re)selection enhancements (e.g. limiting the resources to the active time for peer UE).



	Fujitsu
	Agree
	We prefer that MAC selects the destination and then provides the DRX active time associated with this destination to PHY. For example, the destination can be the destination having the highest LCH priority with data available. 

	ZTE
	Disagree
	Sensing is not a per-destination procedure, we do not see the necessary to do this.

	InterDigital
	Agree
	In legacy, resource selection is performed based on [T1,T2] window of the highest priority destination with data available for transmission.  We see no difference here.

	Intel
	Agree
	We have similar understanding as Ericsson that some LCP enhancements would be needed in order to ensure that destination selection in LCP after resource selection corresponds to that for which active time was indicated.

	Qualcomm
	Disagree
	Sensing and candidate resource selection is not per destination ID. Adding this may cause more spec work. It’s better to keep destination related within MAC.

	Samsung
	See comment
	First for understanding, what’s SL DRX specific new aspect in destination selection compared to Rel-16 SL? 

	Spreadtrum
	Agree
	We think this is aligned with legacy design for resource selection.

	LG
	See comment
	It is opposite that the MAC layer delivers destination information to PHY layer. However, if there is available data, we think that the association between active time and destination already exists.

	Xiaomi
	Disagree
	We understand it’s UE’s internal implementation how to indicate the active time to physical layer.

	vivo
	Disagree 
	If MAC layer selects only part of the destinations at first when providing active time to PHY layer, it may have restriction on PHY layer resource selection.

But anyway, how many destinations the active time is associated to, can be up to UE implementation. 

	CATT
	Agree
	

	Philips
	Agree
	Agree with Ericsson

	Huawei, HiSilicon
	Disagree with comments
	Resource selection is triggered for the data of a logical channel. Therefore, it is natural that the destination associated with the active time is the destination of the logical channel triggering the resource selection.  

We do not see the need to involve other destinations together since resource selection can anyway be triggered if data of a destination is available and no grant is suitable.

	Apple
	Disagree
	Resource selection in PHY layer is destination-agnostic

	MediaTek
	Disagree
	Resource selection procedure is not performed per destination UE, i.e. the destination UE selection is performed in LCP procedure after resource is already selected. So we don’t think MAC should provide the information of destination UE to PHY.

	Lenovo
	Agree
	MAC would need to run a rough-LCP in an implementation only way.


 [Summary] Agree: 7/17. Disagee: 9/17. Need clarification: 1/17. The “Agree” vote includes “agree as legacy(2)” and “agree as further enhancement”. There is no sufficient support. 
2.4. On triggering resource (re)selection

	Tdoc
	Related Proposals

	R2-2111204
	Proposal 11: If the current reserved resources do not fall into the SL DRX active time of any destination, or if there is no SL grant in the SL active time of the destination that has data to be sent, resource (re)selection is triggered.

	R2-2109907
	Proposal 13
The MAC layer triggers resource reselection if the MAC layer cannot find resources in the reported set of resources to be aligned with the active time of any desired Destination.

	R2-2109724
	Proposal 2: Resource (re)selection triggers to PHY are a) when new data becomes available for transmission and on-duration timer is running; b) when Inactivity timer is (re)started and; c) when CSI request is sent to the Rx UE.

Proposal 3: MAC can trigger resource selection with PHY in the next start of on-duration timer i.e., in the next DRX cycle period when PDB still allows it, if the remaining active time is less than T1.


The above proposals are related to triggering conditions for resource (re)selection, which all can be discussed. It is understood that all the three options of RAN1’s working assumption would include resources that are in active time.

Q11: Which condition would your company agree to be trigger for resource (re)selection?

Option 1: If the current reserved resources do not fall into the SL DRX active time of any destination.

Option 2: If there is no SL grant in the SL DRX active time of the destination that has data to be sent.

Option 3: If the MAC layer cannot find resources in the reported set of resources to be aligned with the active time of any desired Destination.

Option 4: When new data becomes available for transmission and on-duration timer is running. 

Option 5: When Inactivity timer is (re)started. 

Option 6: When CSI request is sent to the Rx UE.

	Company
	Option
	Further comments

	OPPO
	None
	We do not see there is a need to revise resource reselection trigger due to DRX, considering we have already spend the effort on restricting the selected resource to match DRX as much as possible.

	Ericsson
	Option 1, option 2, option 3
	Generally speaking the first 3 options are quite overlapping between each other.

Option 5 is not needed, in the legacy procedure, the UE selects resources when there is data available. However, option 5 is for RX UE side, which is not relevant. Option 4 is already covered by existing trigger conditions. Option 6 is also covered by existing trigger conditions.

	Fujitsu
	Option 2
	We think after the enhancements have been done in RAN1, the case in Option 1 and Option 3 will not happen since PHY has to provide some resources within SL DRX active time.

For Option 4,5,6, we share the same view with Ericsson.

Then we prefer Option 2 only.

	ZTE
	Optino1,2,3
	Option1,2,3 should be considered. Option 4,5,6 can be left to UE implementation.

	InterDigital
	Option 2 only
	Option 1 can be handled by adding future reserved resources in the active time of the RX UE

Option 3 is equivalent to option 2, in our view

Option 4 is not needed, and legacy trigger for data arrival is sufficient

We don’t understand the motivations for option 5 and 6



	Intel
	At least options 1, 2, 3
	First three options need to be considered because of the inherent disconnect between the layers/entities that are responsible for SL DRX operation and resource selection. 

	Qualcomm
	Option 2,

Maybe Option 1 and 3
	Option 2 is needed.

May be Option 1 and 3, depending on if the active time can be extended or not, assuming the active time here is the current active time.

No need for Option 4 and 5 and 6.

	Samsung
	No option now (see comment)
	First we would like to understand if MAC provides current and future DRX active time to PHY, when/how the concerned situation (reserved resource is out of current and future DRX active time) happens.  

	Spreadtrum
	Option 2
	

	LG
	See comment
	If UE had selected the resource well, this situation (i.e., there is no SL grant in the SL DRX active time of the destination that has data to be sent.) would not occur. It is necessary to first clarify why this is happening. And we are not sure about the difference between option 1 and option 2.

	Xiaomi
	None
	We understand this depends on RAN1’s design. It’s too early to decide how/whether to trigger resource reselection in MAC.

	vivo
	Option 1 is OK
FFS for other options
	Option-1 is straightforward because if the case happens, it is meaningless to use current grant for transmission but only can perform resource (re)selection.

The difreence between option-1 and option-3 is not really crystal clear to us.

For other options, it should be first clarified whether the time to provide active time and trigger resource (re)selection is the same or not.

	CATT
	Option 1, Option 2
	Option 3 is invalid since PHY layer will perform candidate resource selection considering the active time information provided by the MAC. Option 4 is an existing condition. Option 5 and Option 6 are confusing.

	Philips
	Option 1, 2 and 3
	

	Huawei, HiSilicon
	Option 1, Option 2
	Note that physical layer provides “candidate resource set” to MAC layer. In MAC layer, among the “candidate resource set”, “reserved resources” are determined after resource (re)selection. So even though physical layer has to provide some resources within SL DRX active time of RX UE(s), i.e. some resources of the “candidate resource set” are within SL DRX active time of RX UE(s), sometimes “the current reserved resources” may not fall into the SL DRX active time of RX UE(s) as in Option 1 mainly due to the constant usage of the “reserved resources” and the change of  SL DRX active time of RX UE(s) with time. Accordingly, both Fujitsu and InterDigital’s concerns about Option 1 are invalid.

In RAN1’s working assumption, PHY layer will report resources overlapped with current active time. Thus the case in option 3 can be avoided.

	Apple
	Option 1,2.
	However, we think resource reselection triggers shall be done in RAN1.

	MediaTek
	Option 2
	

	Lenovo
	All 6
	


 [Summary]Option 1:9/17. Option 2: 12/17. Option 3: 5/17. “No option”: 3/17. “Need clarification”: 1/17. 
[Proposal 8] RAN2 to choose among below options for triggering resource (re)selection: 
Option 1: If the current reserved resources do not fall into the SL DRX active time of any destination. (9/17)
Option 2: If there is no SL grant in the SL DRX active time of the destination that has data to be sent. (12/17)
Option 3: If the MAC layer cannot find resources in the reported set of resources to be aligned with the active time of any desired Destination.(5/17)
Option 4: No trigger needed. (3/17)
2.5. On SL grant handling

	Tdoc
	Related Proposals

	R2-2109907
	Proposal 15
Upon reception of a SL grant, the MAC layer selects a suitable destination based on active time of each destination. FFS details of the selection.

	R2-2111204
	Proposal 9: When at least one of initial transmission grant and retransmission grant(s) is in active time of at least one destination, the grant(s) in the active time can be used and the grant(s) out of active time are skipped.


Upon reception of a SL grant, the MAC layer performs the procedure in the LCP to select a suitable destination based on e.g. whether active time of a destination maps best to the SL grant. The following question is tried to find a common ground based on above proposals on the behaviour. 

Q12: Would your company agree that, for each SL grant, the grant is used if it is in active time of at least one destination; otherwise the grant is skipped. FFS how MAC selects destination for the grant.

	Company
	Agree/Disagree
	Further comments

	OPPO
	Agree (with comment)
	We do not see the need of the FFS part, since we understand the this Q aims at impact to LCP, so destination selection is already an existing/legacy component in LCP.

	Ericsson
	Agree
	This is related to the previous RAN2 agreement

RAN2 assumes LCP enhancements for ensuring a TX UE transmits data in the active time of an RX UE are needed. FFS on the resource (re)selection enhancements (e.g. limiting the resources to the active time for peer UE).



	Fujitsu
	Agree
	Agree with Ericsson.

	ZTE
	Agree
	

	InterDigital
	Agree
	

	Intel
	Agree
	

	Qualcomm
	Agree
	

	Samsung
	Agree
	

	Spreadtrum
	Agree
	

	LG
	Agree
	

	Xiaomi
	Agree
	

	vivo
	Agree
	Agree with companies that FFS can be removed.

	CATT
	Agree
	

	Philips
	Agree
	

	Huawei, HiSilicon
	Agree
	

	Apple
	Agree
	

	MediaTek
	Agree
	

	Lenovo
	Agree
	


[Summary] There is sufficient support for this proposal.  
[17/17 Proposal 9] For each SL grant, the grant is used if it is in active time of at least one destination; otherwise the grant is skipped. FFS how MAC selects destination for the grant.
2.6. HARQ RTT timer

2.6.1 HARQ RTT timer is derived by SCI, when HARQ is disabled

	Tdoc
	Related Proposals

	R2-2110119


	Proposal 2: For the case where the SL HARQ RTT timer is derived from the retransmission resource timing:

 -
Explicitly configured SL HARQ RTT timer is not required;

 -
The derived SL HARQ RTT timer is started at the symbol/slot following the PSSCH reception;

 -
The value of the derived SL HARQ RTT timer is equal to the time gap between the end of the PSSCH and the start of the first reserved retransmission resource;

	R2-2110062
	Proposal 4  
When preemption is not allowed or not configured in this link, SL HARQ RTT timer is started with the value covering the time gap between SCI and the furthest SCI-indicated retransmission slot.

Proposal 5  
When preemption is allowed, either 1) TX UE does not reselect a resource earlier than the preempted resource; 2), SL HARQ RTT timer is started with the value which covers the time gap between SCI and “SCI-indicated retransmission slot minus T3”.

Proposal 6  
For mode 1 TX UE, UE’s serving gNB need configure a non-zero value (e.g., based on SL grant allocation delay) for SL HARQ RTT timer for the HARQ FB-disabled transmission when ReTx resource is to be allocated by a new mode-1 SL grant.

Proposal 7  
For mode 2 TX UE, UE and/or its serving gNB need use the zero value for the HARQ FB-disabled transmission when ReTx resource not indicated in SCI.

Proposal 8  
For SL Groupcast with HARQ FB disabled, if there is no SCI indicated ReTx resource, SL HARQ RTT timer value configured in DRX configuration is ignored. RX UE starts SL HARQ retransmission timer directly by assuming a zero value used for SL HARQ RTT timer.

	R2-2109937
	Proposal 2: 
A TX UE which performs re-selection of retransmission resources due to pre-emption ensures that the newly selected re-transmission resource does not occur earlier in time than the pre-empted resource when communicating to an RX UE in DRX

Proposal 3: 
HARQ RTT timer of 0 is used when SCI does not indicate retransmission resource and HARQ feedback is disabled

Proposal 4: 
SL HARQ RTT timer is derived from the retransmission resource timing in the SCI when the SCI indicates a retransmission resource and HARQ feedback is disabled

	R2-2109907
	Proposal 17
When HARQ feedback is disabled, the HARQ RTT timer should be set based on:

•
the resource reservation information in the SCI if the reservation information is present,

•
else, to be zero.

	R2-2110155
	Proposal 9. sl-drx-HARQ-RTT-Timer can be started at the first slot after the end of last PSSCH resource scheduled through SCI.


Considering the WA on HARQ RTT based on SCI is confirmed, further details can be discussed on how to derive the HARQ RTT timer value. Especially for the case when HARQ is disabled, several similar proposals are provided as above. 

Q13: Would your company agree that, when HARQ feedback is disabled
, the HARQ RTT timer can be derived based on the resource reservation information for retransmission of the same TB 
in the SCI if the resource reservation information for retransmission of the same TB is present? 

	Company
	Agree/Disagree
	Further comments

	OPPO
	Disagree
	Resource reservation info is for the next TB, while RTT timer is for the retransmission of the current TB, we do not see the link between the two things.

	Ericsson
	agree
	To OPPO, this question is actually referring to the resource reservation information for retransmission of the same TB in the SCI. since RAN1 LS reply has already indicated that it is feasible for UE to derive HARQ RTT timer based on the timing information in the SCI. it is reasonable to apply the same rule also for HARQ FB disabled.


	Fujitsu
	Agree
	Since the WA is confirmed, when the SCI indicates the retransmission reservation, the HARQ RTT timer value certainly can be obtained from the SCI;

In addition, we think this is also applicable for HARQ-ACK enabled case, the only difference is whether to start retransmission timer after HARQ RTT timer expires should depend on the packet decoding result.

	ZTE
	Agree
	

	InterDigital
	Partially Agree
	We agree with the statement, but wonder whether we should apply this also for the case where HARQ feedback is enabled.

	Intel
	Agree
	

	Qualcomm
	Agree
	HARQ RTT timer can be derived based on the SCI indications for retransmissions.

	Samsung
	Agree
	

	Spreadtrum
	Agree
	

	LG
	Agree
	Even in case of HARQ Feedback Disabled MAC PDU transmission, if there is retransmission resource information in SCI, the RTT timer value can be derived based on the reserved resource information according to the working assumption.

	Xiaomi
	Agree
	This is the consequence of WA.

	vivo
	Agree
	After clarification by Ericsson, it is ok to us.

	CATT
	Disagree
	Suggest using a configured HARQ RTT timer.

	Huawei, HiSilicon
	Agree
	

	Apple
	Agree
	

	MediaTek
	Agree
	

	
	
	


[Summary] Agree: 14/16. Disagree: 2/16. 
[14/16 Proposal 10] When HARQ feedback is disabled, the HARQ RTT timer can be derived based on the resource reservation information for retransmission of the same TB in the SCI if the resource reservation information for retransmission of the same TB is present. 
Q14: Would your company agree that, when HARQ feedback is disabled, value zero and/or non-zero value is used for the HARQ RTT timer if the resource reservation information is not present?

	Company
	Agree/Disagree
	Further comments

	OPPO
	Disagree with comment
	We believe in this case, a configured value is used, which can be configured as zero or non-zero values.

	Ericsson
	Yes
	In our views, value zero is sufficient if there is no timing information in the SCI. but, we are also ok to following the majority view. Since there is a corresponding proposal in offline 716

Proposal 6: [14/18] The values of both zero and non-zero can be used for the HARQ RTT timer when HARQ feedback is disabled. The further details on configuration of values are FFS.

Perhaps this question can be reworded to cover non zero value case.


	Fujitsu
	Yes
	In our views, value zero is applicable for HARQ feedback disabled case.

	ZTE
	Disagree
	Share the view with OPPO. In this case, a configured value should be used, and whether the configured value is zero or not is left to implementation.

	InterDigital
	Agree
	For this case, a specific value can be (pre)configured.

	Intel
	
	Agree with OPPO

	Qualcomm
	Agree
	A value of zero is good enough.

	Samsung
	Disagree (see comment)
	Zero or any value configured. 

	Spreadtrum
	Agree
	Value zero is enough.

	LG
	Agree
	Zero value is enough. 

	Xiaomi
	Disagree
	Up to configuration

	vivo
	Agree with value zero
	If no information in SCI, value 0 is enough.

	CATT
	Agree
	

	Huawei, HiSilicon
	Disagree with comment
	Same view as OPPO

	CATT
	Agree
	

	MediaTek
	Agree
	Value zero is enough.

	Lenovo
	Agree
	


 [Summary] “Only ZERO value”: 7/15. “Both ZERO and Non-zero values”: 10/15. It is understood these two options are mutually exclusive. 
[10/15 Proposal 11] When HARQ feedback is disabled, both zero value and non-zero value are used for the HARQ RTT timer if the resource reservation information is not present.
Q15: If your company agrees with Q13, 
would your company agree that, when SL HARQ feedback is disabled, the value of the derived SL HARQ RTT timer is equal to the time gap between the first slot after the end of last PSSCH resource scheduled through SCI and the start of the first reserved retransmission resource?

	Company
	Agree/Disagree
	Further comments

	OPPO
	Disagree
	Firstly, RTT timer can differentiate between SCI-derived case and configured case, depending on whether there is re-tx resource indicated in previous SCI.

I.e.,

If the SCI indicate next re-transmission resource, no big point to discuss when RTT timer start/stop, as long as Retx timer starts since the first retransmission resource indicated by SCI.

If the SCI does not indicate the next re-transmission resource, RTT timer should start from the PSFCH resource if configured in the resource pool, or from the current PSSCH (not the “last PSSCH”) if psfch is not configured in the resource pool.

(we do not quite understand what is “after the end of last PSSCH resource scheduled through SCI and the start of the first reserved retransmission resource”)

	Ericsson
	agree
	This question is related to Q13, suggest rewording.

	Fujitsu
	Agree
	We also agree with Ericsson’s rewording.

	ZTE
	Agree
	We are fine with Ericsoon’s modification.

	InterDigital
	Agree
	We prefer that in both HARQ enable/disable cases, HARQ RTT timer is started/stopped, in order to align behavior.

	Qualcomm
	Agree
	Also agree with Ericsson’s rewording.

	Samsung
	Agree
	

	Spreadtrum
	Agree
	

	LG
	Disagree
	Same view with OPPO. 

We do not quite understand what is “after the end of last PSSCH resource scheduled through SCI and the start of the first reserved retransmission resource”.
The value of the derived SL HARQ RTT timer is equal to the time gap between resources indicated in SCI.

	Xiaomi
	Agree
	

	vivo
	Disagree with comments
	For the end of this SL HARQ RTT timer, it is not necessarily the start of the first reserved retransmission resource, because pre-emption/re-evaluation may happen. We need to discuss the impact brought by them, e.g. the SL HARQ RTT timer can be shorter to consider possible pre-emption/re-evaluation. 

	CATT
	Agree
	

	Huawei, HiSilicon
	Disagree with comments
	The meaning of “last” in “last PSSCH resource scheduled through SCI” needs clarification.

	Apple
	Agree
	

	MediaTek
	Agree
	


 [Summary] Agree:11/15 . Disagree: 4/15. It is understood that clarification is needed as “what is “after the end of last PSSCH resource scheduled through SCI and the start of the first reserved retransmission resource”. 
[11/15 Proposal 12] If the value of the SL HARQ RTT timer can be derived when SL HARQ feedback is disabled, the value is the time gap between a start point and a stop point. FFS the first slot after the end of last PSSCH resource scheduled through SCI as the start point. FFS the start of the first reserved retransmission resource as the stop point. 
Q16: Which option would your company agree, when pre-emption is allowed?

Option 1: TX UE does not reselect a resource earlier than the pre-empted resource.

Option 2: When SL HARQ feedback is disabled, SL HARQ RTT timer is started with the value which covers the time gap between SCI and “SCI-indicated retransmission slot minus T3 ([image: image2.png]T,
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, 38.214, clause 8.1.4)”.

Option 3: Other, please elaborate.
	Company
	Option
	Further comments

	OPPO
	See comment
	We do not think the option-1 and option-2 are orthogonal to each other.. they seem more for different issues.

For option-1, we tend to agree.

For option-2, see our reply to Q15 on the issue of RTT timer starting position in case of FB-disabled

If the SCI indicate next re-transmission resource, regardless how RTT timer is defined, Retx timer starts since the first retransmission resource indicated by SCI.

If the SCI does not indicate the next re-transmission resource, RTT timer should start from the PSFCH resource if configured in the resource pool, or from the current PSSCH (not the “last PSSCH”).



	Ericsson
	
	In our views, it is sufficient to have a procedure as the following

When HARQ feedback is disabled, the HARQ RTT timer should be set based on: 
· the resource reservation information for retransmission of the same TB in the SCI if the reservation information for retransmission of the same TB is present,  
· else, to be zero. 



	Fujitsu
	Option 1
	We think Option 1 can avoid the packet loss.

Option 2 is not feasible since UE can also do pre-emption checking and re-selection before “m-T3” based on implementation. 

	ZTE
	
	In this case, a configured HAR RTT timer should be used.

	InterDigital
	Option 1
	We think this is the cleanest approach and leads to the most power savings.  

	Intel
	Option 1
	

	Qualcomm
	Option 1
 Option2 with comment
	Agree with Option 1.

Agree with Ericsson’s rewording for Option 2.

	Samsung
	Option1
	

	Spreadtrum
	
	If pre-emption is allowed, a configured HARQ RTT timer is used.

	LG
	Option 1
	

	Xiaomi
	
	Option 1 may not be enough. If reselected resource is out of RTX timer bound, RX would miss the retransmission. Therefore, another restriction should be added in option1. 

TX UE does not reselect a resource earlier than the pre-empted resource or later than the RTX timer expiry.

	vivo
	Option 1 is OK

Option 2 can be further checked with RAN1
	Option-1 is simple and it will neither impact SL HARQ RTT timer, nor RAN1 specification
For option-2, the idea is acceptable to us that we can evaluated the suitable time but whether it is T3 should be further checked.

	CATT
	See comments 
	Suggest using a configured HARQ RTT timer.

	Huawei, HiSilicon
	Option 3
	Reselection resource due to pre-emption can just follow the principle that resource selected should be in active time, no particular restriction is needed. The reselected resource is not necessarily after the pre-empted resource, for example, if inactivity timer is running before the pre-empted resource, a resource before the pre-empted resource which is in active time can still be selected.

	Apple
	Option 1 and Option 2
	We are fine with both options.

	MediaTek
	Option 1
	


 [Summary] Option 1: 9/16. 

[9/16 Proposal 13] RAN2 further discuss, when pre-emption is allowed, TX UE does not reselect a resource earlier than the pre-empted resource. 
2.6.2 Other cases 

	Tdoc
	Related Proposals

	R2-2110062
	Proposal 9  
For SL Groupcast with HARQ FB enabled, if there is no SCI indicated ReTx resource, SL HARQ RTT timer value configured in DRX configuration is equal to the time gap needed for PSFCH processing.

	R2-2110225
	Proposal 3: In NACK only HARQ feedback, RX UE doesn’t not start the HARQ RTT timer in the symbol/slot following the end of PSFCH resource, if PSFCH is not transmitted.

	R2-2109907
	Proposal 18
Always set the value of the retransmission timer according to SL DRX configuration regardless of how the UE handles the HARQ RTT timer.


There is no much commonality among the above proposals, they are discussed separately. 

Q17: Would your company support “For SL Groupcast with HARQ FB enabled, if there is no SCI indicated ReTx resource, SL HARQ RTT timer value configured in DRX configuration is equal to the time gap needed for PSFCH processing.”?

	Company
	Yes/No
	Further comments

	OPPO
	No
	No need to fix the RTT timer length, but can rely on a configured value.

	Ericsson
	No
	Agree with OPPO

	Fujitsu
	No
	Agree with OPPO

	ZTE
	No
	Agree with OPPO

	InterDigital
	No
	Same view as others.

	Intel
	No
	Configured value is preferred

	Qualcomm
	No 
	A configured value

	Samsung
	No
	Consideration of PSFCH processing time is optimization and we think the baseline is “0” or any value configured. 

	Spreadtrum
	No
	

	LG
	No
	In the HARQ Feedback enabled case, RTT timer value can rely on a configured value.

	Xiaomi
	No
	Up to configuration

	vivo
	No
	

	CATT
	No
	Agree with OPPO

	Huawei, HiSilicon
	No
	

	Apple
	Yes
	We think this cannon be a zero value anyway. If there is a way to avoid configuration, RAN2 can use a fixed value in the spec.

	MediaTek
	No
	Agree with OPPO.


 [Summary]There is no sufficient support for this proposal.
Q18: Would your company support “In NACK only HARQ feedback, RX UE doesn’t not start the HARQ RTT timer in the symbol/slot following the end of PSFCH resource, if PSFCH is not transmitted.”?

	Company
	Yes/No
	Further comments

	OPPO
	No
	As in Uu, the successful decoding only prevent the starting of retx timer, not the RTT timer, no need to change that behavior.

	Ericsson 
	No
	Agree with OPPO

	Fujitsu
	No
	Agree with OPPO that Uu DRX behavior should be reused.

	ZTE
	No
	Agree with OPPO

	InterDigital
	No
	Agree with OPPO

	Intel
	No
	Agree with OPPO

	Qualcomm
	No
	No PSFCH is an ACK and Rx UE doesn’t need retransmission timers.

	Samsung
	See comment
	If the UE doesn’t send PSFCH because of ACK, then RX UE doesn’t start HARQ RTT. But if the UE doesn’t send PSFCH because of prioritization (with actual NACK), then we’re not sure whether it is good not to start HARQ RTT or not. 

	Spreadtrum
	No
	

	LG
	See comments
	It's good to follow Uu concept, but there's no reason to start the HARQ RTT timer if it's an ACK. We can follow majority view.

	Xiaomi
	Yes
	We understand the Uu design, i.e. always start RTT, mentioned by OPPO is because PUCCH feedback is always transmitted to trigger RTT timer. Therefore, a unified solution could be achieved. However, on sidelink, PSFCH would not always transmitted. It’s simpler to not start RTT timer if PSFCH is not transmitted. Otherwise, we have to specify how to start RTT timer in this case, but RTX timer would not start upon RTT timer expiry. It’s pointless to specify how to start RTT timer in this case. 

	vivo
	No
	

	CATT 
	No
	Agree with OPPO

	Huawei, HiSilicon
	No
	

	Apple
	No
	

	MediaTek
	No
	


 [Summary]There is no sufficient support for this proposal.
Q19: Would your company support “Always set the value of the retransmission timer according to SL DRX configuration regardless of how the UE handles the HARQ RTT timer.”?

	Company
	Yes/No
	Further comments

	OPPo
	See comment
	This proposal is a bit confusing..

We understand Retx timer length is always based on a configured value, while how this value is decided is NW implementation. so not sure what is the meaning of “set the value of the retransmission timer according to SL DRX configuration”

And UE would behave on retx timer simply following the configured timer length, regardless of RTT timer differentiation between SCI-derived case and configured case, depending on whether there is re-tx resource indicated in previous SCI.

That’s all.

	Ericsson
	Yes
	Thanks for OPPO’s suggestion and clarification. 

It is actually that OPPO has correct interpretation. In this case, perhaps the question can be reformulated as

Q19: Would your company support “Always set the value of the retransmission timer to be a configured value regardless how the UE sets the HARQ RTT timer”?



	Fujitsu
	Yes
	Agree with OPPO and Ericsson.

	ZTE
	Yes
	

	InterDigital
	Yes
	

	Intel
	Yes
	We agree with Ericsson

	Qualcomm
	Yes
	A configured value.

	Samsung
	Yes (see comment)
	We’re ok with “Yes”, however it would be good first to understand how HARQ RTT works for all cases. 

	Spreadtrum
	Yes
	

	LG
	Yes
	

	Xiaomi
	Yes
	

	vivo
	See comments
	As replied in previous question, the possible pre-emption/re-evaluation can affect the value of the retransmission timer, e.g. to be longer to cover possible new reserved resources. So the question itself may not be so accurate to only consider ‘DRX configuration’

	CATT
	Agree
	We are fine with Ericsson’s rewording.

	Huawei, HiSilicon
	Yes
	

	Apple
	Yes
	

	MediaTek
	Yes
	


 [Summary] There is sufficient support for the rewording. 14/16
[14/16 Proposal 14] Always set the value of the retransmission timer to be a configured value regardless how the UE sets the HARQ RTT timer. 
3. Conclusion

High priority proposals: 
[10/16 Proposal 2] TX UE shall selects initial transmission resource only in the RX UE’s current active time. FFS on spec impact. 

[13/13 Proposal 3] If RAN 2 agrees that TX UE shall selects initial transmission resource only in the RX UE’s current active time, it is applied for all cast types. 

[17/17 Proposal 9] For each SL grant, the grant is used if it is in active time of at least one destination; otherwise the grant is skipped. FFS how MAC selects destination for the grant.
[14/16 Proposal 10] When HARQ feedback is disabled, the HARQ RTT timer can be derived based on the resource reservation information for retransmission of the same TB in the SCI if the resource reservation information for retransmission of the same TB is present. 

[10/15 Proposal 11] When HARQ feedback is disabled, both zero value and non-zero value are used for the HARQ RTT timer if the resource reservation information is not present. 
[14/16 Proposal 14] Always set the value of the retransmission timer to be a configured value regardless how the UE sets the HARQ RTT timer. 

Low priority proposals:
[10/17 Proposal 1] RAN2 assumes, when MAC selects N resources in total for a MAC PDU, at least X (X≤N) resources shall be selected in the current active time. FFS on spec impact. FFS how to determine X for each cast type. FFS for retransmission case. 
[9/17 Proposal 4] RAN2 further discuss, when determining the current active time to provide to PHY layer, active time associated with a selected resource in which transmission has not yet occurred is not included. 

[Proposal 6] Regarding that MAC provides current and/or future active time to PHY, RAN 2 to choose between Option 1 “Current active time only” (10/17) and Option 2 “Current active time and future active time estimated by the MAC layer” (5/17). 
[Proposal 8] RAN2 to choose between among options for triggering resource (re)selection: 

Option 1: If the current reserved resources do not fall into the SL DRX active time of any destination.(9/17)

Option 2: If there is no SL grant in the SL DRX active time of the destination that has data to be sent.(12/17)

Option 3: If the MAC layer cannot find resources in the reported set of resources to be aligned with the active time of any desired Destination.(5/17)

Option 4: No trigger needed. (3/17) 
[11/15 Proposal 12] If the value of the SL HARQ RTT timer can be derived when SL HARQ feedback is disabled, the value is the time gap between a start point and a stop point. FFS the first slot after the end of last PSSCH resource scheduled through SCI as the start point. FFS the start of the first reserved retransmission resource as the stop point. 

[9/16 Proposal 13] RAN2 further discuss, when pre-emption is allowed, TX UE does not reselect a resource earlier than the pre-empted resource. 
�Should this be limited only to HARQ feedback disabled?  It seems to work also for HARQ feedback enabled.


Wang Min-> suggested wording change, to be aligned with the original proposal in the contribution R2-2109907


�Please avoid “hijacking the question on the fly(”


Wang Min->


This question is related to Q13, suggest rewording.





